Subject: Re: equal lat long grid
Posted by David Fanning on Fri, 28 Apr 2006 18:52:12 GMT

View Forum Message <> Reply to Message

Pawan writes:

| am running this program on IDL_6.0 on Linux machine and it gives me
error on the following location. IDL does not recognize indgen_array.

glon = indgen_array(nlon, nlat, /lon) * dlon + lonO[0] + dlon / 2.
glat = indgen_array(nlon, nlat, /lat) * dlat + latO[0] + dlat / 2.

| was wondering is this just indgen or some other thing you want to do
here ?

glon = indgen(nlon, nlat) * dlon + lon0O[0] + dlon / 2.
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>
>
>
>
>
>
>
>
>
> glat = indgen(nlon, nlat) * dlat + latO[0] + dlat / 2.

You will have to download this from his web page. See his
previous post for a link to this file.

Cheers,
David
David Fanning, Ph.D.

Fanning Software Consulting, Inc.
Coyote's Guide to IDL Programming: http://www.dfanning.com/
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